



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 3rd Semester Section-A Session: Autumn 2025

Registration #	Name	ACT351					ACT-451					FIN232					FIN-432					GEN-121					GEN-231				
		Cost and Managerial Accounting					Cost and Managerial Accounting					Introduction to Business Finance					Introduction to Business Finance					Ideology & Constitution of Pakistan					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BBA-Aut-24-M-0001	Aaimen Anwar	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	67	C+	2.5	3	7.5			
BBA-Aut-24-M-0002	Abdul Rafay Khan	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	90	A	4.0	3	12.0			
BBA-Aut-24-M-0009	Anum Bibi	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0			
BBA-Aut-24-M-0010	Arooba Fatima	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	85	A	4.0	3	12.0			
BBA-Aut-24-M-0012	Basma Saleem	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5			
BBA-Aut-24-M-0015	Fatima Saleem	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	84	A	4.0	3	12.0			
BBA-Aut-24-M-0017	Hamza Ali	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	76	B+	3.5	3	10.5			
BBA-Aut-24-M-0018	Hamza Ali Qureshi	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	80	A	4.0	3	12.0			
BBA-Aut-24-M-0025	Khifsa Iqbal	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	68	C+	2.5	3	7.5	-	-	-	-	75	B+	3.5	3	10.5			
BBA-Aut-24-M-0030	Mehwish Shafique	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	76	B+	3.5	3	10.5			
BBA-Aut-24-M-0035	Muhammad Aliyan Azeem	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	19	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5			
BBA-Aut-24-M-0048	Muhammad Yasir Maqool Balouch	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	60	C	2.0	3	6.0			
BBA-Aut-24-M-0051	Munika Maryam Khan	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	96	A	4.0	3	12.0			
BBA-Aut-24-M-0053	Nida Hassan	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5			
BBA-Aut-24-M-0055	Qandeel Naseer	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	51	D	1.5	3	4.5			
BBA-Aut-24-M-0056	Raja Wasi Ur Rehman	-	-	-	-	29	F	-	3	-	-	-	-	9	F	-	3	-	-	-	-	-	-	5	F	-	3	-			
BBA-Aut-24-M-0058	Rizwan Shafqat	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	17	F	-	3	-			
BBA-Aut-24-M-0060	Samina	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	82	A	4.0	3	12.0			
BBA-Aut-24-M-0061	Sana Nazar	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	93	A	4.0	3	12.0			
BBA-Aut-24-M-0064	Syed Besalat Shah	-	-	-	-	38	F	-	3	-	-	-	-	18	F	-	3	-	-	-	-	-	-	30	F	-	3	-			
BBA-Aut-24-M-0066	Umaima Wali	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	76	B+	3.5	3	10.5			
BBA-Aut-24-M-0068	Yaqoob Khan	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	F	-	3	-			
BBA-Aut-24-M-0072	Syed Meesam Ali	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	F	-	3	-			
IS/BBA/A-23/M/A/0005	Abu Bakar Sadiq	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	14	F	-	3	-	-	-	-	-	61	C	2.0	3	6.0			
IS/BBA/A-23/M/A/0025	Junaid Ahmed (UR115 Removed S	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	18	F	-	3	-			
IS/BBA/A-23/M/B/0062	Muazim Haider	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0			
IS/BBA/A-23/M/B/0065	Muhammad Asif	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0			
IS/BBA/S-24/M/002	Ahmad Waseem Abbasi (Fee Defa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-24/M/014	Hasnain Umer	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	36	F	-	3	-	-	-	-	-	81	A	4.0	3	12.0			

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: _____



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 3rd Semester Section-A Session: Autumn 2025

		GEN-232					IT-543					MKT233					MKT-433					QNT-114				
		Urdu (Compulsory)					Information System Analysis					Principles of Marketing					Principles of Marketing					Business Mathematics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
BBA-Aut-24-M-0001	Aaimen Anwar	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0002	Abdul Rafay Khan	85	A	4.0	3	12.0	78	B+	3.5	3	10.5	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0009	Anum Bibi	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0010	Arooba Fatima	82	A	4.0	3	12.0	64	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0012	Basma Saleem	82	A	4.0	3	12.0	71	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0015	Fatima Saleem	76	B+	3.5	3	10.5	76	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0017	Hamza Ali	80	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0018	Hamza Ali Qureshi	77	B+	3.5	3	10.5	57	C	2.0	3	6.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0025	Khifsa Iqbal	80	A	4.0	3	12.0	73	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0030	Mehwish Shafique	82	A	4.0	3	12.0	66	C+	2.5	3	7.5	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0035	Muhammad Aliyan Azeem	75	B+	3.5	3	10.5	63	C	2.0	3	6.0	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0048	Muhammad Yasir Maqool Balouch	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0051	Munika Maryam Khan	81	A	4.0	3	12.0	68	C+	2.5	3	7.5	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0053	Nida Hassan	80	A	4.0	3	12.0	82	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0055	Qandeel Naseer	85	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0056	Raja Wasi Ur Rehman	70	B	3.0	3	9.0	-	F	-	3	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-			
BBA-Aut-24-M-0058	Rizwan Shafqat	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0060	Samina	90	A	4.0	3	12.0	62	C	2.0	3	6.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0061	Sana Nazar	90	A	4.0	3	12.0	85	A	4.0	3	12.0	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-		
BBA-Aut-24-M-0064	Syed Besalat Shah	75	B+	3.5	3	10.5	56	C	2.0	3	6.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-		
BBA-Aut-24-M-0066	Umaima Wali	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0068	Yaqoob Khan	65	C+	2.5	3	7.5	52	D	1.5	3	4.5	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
BBA-Aut-24-M-0072	Syed Meesam Ali	65	C+	2.5	3	7.5	51	D	1.5	3	4.5	-	-	-	-	39	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0005	Abu Bakar Sadiq	70	B	3.0	3	9.0	62	C	2.0	3	6.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
IS/BBA/A-23/M/A/0025	Junaid Ahmed (UR115 Removed S	66	C+	2.5	3	7.5	61	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
IS/BBA/A-23/M/B/0062	Muazim Haider	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/B/0065	Muhammad Asif	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/002	Ahmad Waseem Abbasi (Fee Defa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-24/M/014	Hasnain Umer	75	B+	3.5	3	10.5	60	C	2.0	3	6.0	-	-	-	-	41	F	-	3	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 3rd Semester Section-A Session: Autumn 2025

Registration #	Name	ACT351					ACT-451					FIN232					FIN-432					GEN-121					GEN-231				
		Cost and Managerial Accounting					Cost and Managerial Accounting					Introduction to Business Finance					Introduction to Business Finance					Ideology & Constitution of Pakistan					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-24/M/021	Malik Saad Tanveer Awan	65	C+	2.5	3	7.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	50	D	1.5	2	3.0	75	B+	3.5	3	10.5
IS/BBA/S-24/M/028	Muhammad Basit (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/S-24/M/029	Muhammad Bilal Jamil	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	36	F	-	3	-	-	-	-	-	-	82	A	4.0	3	12.0
IS/BBA/S-24/M/035	Muhammad Rehan Abbasi (Fee De	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/S-24/M/036	Muhammad Shaban Khan (Fee Def	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/S-24/M/045	Saood Sajjad	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	85	A	4.0	3	12.0
IS/BBA/S-24/M/047	Syed Muhammad Mudassir	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	3	9.0

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____ Checked By: _____ Rechecked By: _____
Superintendent
Asst. Controller of Exams
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 3rd Semester Section-A Session: Autumn 2025

		GEN-232					IT-543					MKT233					MKT-433					QNT-114				
		Urdu (Compulsory)					Information System Analysis					Principles of Marketing					Principles of Marketing					Business Mathematics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-24/M/021	Malik Saad Tanveer Awan	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/028	Muhammad Basit (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/029	Muhammad Bilal Jamil	61	C	2.0	3	6.0	57	C	2.0	3	6.0	-	-	-	-	35	F	-	3	-	3	F	-	3	-	
IS/BBA/S-24/M/035	Muhammad Rehan Abbasi (Fee De	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/036	Muhammad Shaban Khan (Fee Def	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-24/M/045	Saood Sajjad	75	B+	3.5	3	10.5	64	C	2.0	3	6.0	-	-	-	-	22	F	-	3	-	-	-	-	-	-	
IS/BBA/S-24/M/047	Syed Muhammad Mudassir	76	B+	3.5	3	10.5	73	B	3.0	3	9.0	-	-	-	-	19	F	-	3	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: